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The mark bands and assessment criteria on pages 2-3 should be used where indicated in the mark 

scheme. 
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Section A  

 

 

1. (a). Describe one advantage and one disadvantage of SVT being a public limited company                    

 [4]  

 

Public limited company: A type of company that offers limited liability, or legal protection for its 

shareholders, with the legal right to sell shares to the public through the stock exchange market. 

 

Advantages: 

• Limited liability to shareholders (if SVT experiences a loss, the loss will not exceed the amount 

invested by the shareholders. In other words, investors' and owners' private assets are not at 

risk if the SVT fails) 

• Often large businesses (SVT is a large company operating in over 20 countries) 

• Huge amounts of money can be raised from the sale of shares to the public. The shares are 

quoted on the Stock Exchange or the Alternative Investment Market (AIM). (SVT can use the 

sales of shares on the stock market as a source of finance for growth and expansion) 

• Production costs may be lower as firms gain economies of scale. (SVT already has gained 

economies of scale through it internal and external growth strategy) 

• Because of their size, plc  can often dominate the market. (SVT has a regional monopoly in 

each country in which it operates) 

• It becomes easier to raise finance 

 

Disadvantages: 

• Legal formalities involved in setup 

• High costs when creating a plc. 

• Share prices can be subject to fluctuation (SVT’s investors’ might be affected) 

• Final accounts must be shared with public 

• Risk of takeover (SVT may be at risk of a takeover by a bigger company) 

• Directors influenced by short-term objectives of major investors (this may affect SVT’s long-

term objectives and plan) 

 

Accept any other relevant/ applicable advantage/ disadvantage. 

 

Mark as 2 + 2. 

Award [1] for each relevant advantage/disadvantage explained and [1] for appropriate 

application to SVT to a maximum of [2]. 

[2] can- not be awarded for each reason used if the response lacks either explanation 

and / or application. 

 

For example: 
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For an identification or a description of an advantage/ disadvantage with or without 

application [1]. 

For explanation of an advantage/ disadvantage with no application [1]. 

For explanation of an advantage/ disadvantage and application [2]. 

 

  

(b) Explain possible economies of scale that may apply to SVT.               [6]  

 

Economies of scale: Reduction in the average costs of a business as the scale of production 
increases. In this context, “scale” means productive capacity (ie, the physical size of the business) 
rather than the actual level of production. 
 
SVT is a large multinational so it can: 

• Technical EOS: afford the best and most efficient equipment, for SVT further expansion in 
production capacity (e.g. wind turbines) 

• Marketing EOS: direct effective marketing based on a whole range of products (SVT already 
offers a range of products) 

• Managerial EOS: employ a range of professionals and managers, in the countries SCVT 
operates. 

• Financial EOS: access to a wide range of sources of finance, hence cheaper finance for SVT, 
as a way of growth except mergers and acquisitions 

 

• Purchasing EOS: SVT can buy raw materials from suppliers in large quantities decreasing the 
average cost per unit. 

• economies of scale have already proven beneficial for SVT after reorganising and modernizing 
H4. 

 

Accept any other reasonable explanation/application of EOS.  

Marks should be awarded according to the mark bands on page 2.  

Award a maximum of [2] if the discussion is only about SVT without theoretical content.  

Award maximum [3] for a theoretical answer.  

Award maximum [5] if the analysis is mainly descriptive but in context. N.B. Some textbooks refer to 

average costs going down when production goes up (because of fixed costs being spread out more). 

Technically this is incorrect, as this is about production efficiency rather than scale so should not be 

allowed. 

 

2. (a) With reference to SVT, explain one advantage and one disadvantage of using 

secondary market research (line 134)         [4]  

 

Advantages of using secondary market research include: 

 

• Efficient in terms of time – the data on spending patterns of low-income families in LEDCs, for 

example, has already been collected by someone else and is available. SVT needs it for the 

right promotional mix of WF 15. 
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• Effective in terms of cost – often secondary research is free and, when it is not, is typically less 

expensive than the process of gathering primary research. As SVT is looking for launching WF 

15 in LEDCs at an affordable price, it would be very time consuming and expensive to sample 

many countries. Often, sample secondary research already exists. It has allowed SVT to better 

understand the spending patterns in LEDCs where they have no previous experience. 

• SVT directors can conduct a STEELPE analysis on different LEDCs to evaluate social, 

economic and legal factors before a decision is made. 

• Low cost to gather various information/ opinions. 

• SVT directors can conduct also secondary market research to choose the appropriate pricing 

strategy for WF 15 

• SVT directors can conduct also secondary market research to choose the appropriate 

distribution channels for WF 15 

• SVT directors can collect data about the trends of the markets they operate in for future 

expansions 

 

Disadvantages of using secondary market research include: 

• Lack of precise focus on the issue or problem concerning the business. The stimulus refers to 

LEDCs / Sudan. SVT may have to consider carrying out primary market research in LEDCs 

/Sudan to get specific responses to specific issues like the use of water purifiers or household 

filters. 

• Lack of most up to date information– often secondary research is outdated. If SVT is going to 

target different markets they need to be confident that this secondary research is relevant and 

up-to-date. What if external factors have changed since the data was collected? 

• Uncertainty about the quality of the data collection/research. Some information, may be 

inaccurate and biased.  

 

Accept any other relevant/ applicable advantage/ disadvantage. 

 

Mark as 2 + 2. 

Award [1] for each relevant advantage/disadvantage explained and [1] for appropriate 

application to SVT to a maximum of [2]. 

[2] can- not be awarded for each reason used if the response lacks either explanation 

and / or application. 

 

For example: 

For an identification or a description of an advantage/ disadvantage with or without 

application [1]. 

For explanation of an advantage/ disadvantage with no application [1]. 

For explanation of an advantage/ disadvantage and application [2]. 
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(b) With reference to Yannick and Ariadne, explain the differences between a situational and an 

autocratic leadership style (line 19).                 [6]  

 

An autocratic leader like Ariadne, retains control and takes all the decisions (centralized). There is 

little or no consultation with workers and subordinates are expected to follow instructions. In SVT’s 

case, Ariadne’s autocratic leadership style, may have led her division being one of the industry 

leaders in productivity per employee. 

 

On the other side, a situational leadership style, like Yannick’s leadership style, varies in styles, and a 

leadership style is chosen depending on the task, the skills and the situation. This has enabled 

Yannick and his division to respond quickly to unexpected changes in the external environment. 

 

Accept any other relevant point 

Accept any other relevant application to SVT, Ariadne or Yiannick. 

Marks should be allocated according to the markbands on page 2. 

Award a maximum of [3] for a theoretical answer. 

Award a maximum of [5] if the explanation of the difference between the two leadership styles is 

mainly descriptive but in context. 

For full marks, the explanation needs to be developed and in context. 

 

 

 

3. (a) With reference to SVT, explain one advantage and one disadvantage of an 

organizational structure based on product.       [4] 

 

SVT is organised into four divisions based on product.  

Advantages 

• Product divisions can work well because they allow a team to focus on a product, with an 

appropriate leadership structure. (SVT can develop new specialised products or enter new markets 

for each division) 

• Having a senior executive – often a member of the Board of Directors – makes it more likely 

the division will receive the resources it needs from the company. (SVT has a director for each 

division) 

• A product division’s focus allows it to build a common culture that contributes both to higher 

morale and a better knowledge of the division’s range of products (SVT has developed successful 

product and has entered more than 20 countries) 

 

Disadvantages 

• Product divisions may compete with each other for available financial resources and this might 

reduce cooperation between them. (There have been clashes between Yannick and Ariadne 

regarding the machinery needed to update water treatment plants) 
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• Divisions can result in compartmentalisation that results in lack of coordination or even 

duplication of operations.  

 

Mark as 2 + 2. 

Award [1] for each relevant advantage/disadvantage explained and [1] for appropriate 

application to SVT to a maximum of [2]. 

[2] can- not be awarded for each reason used if the response lacks either explanation 

and / or application. 

 

For example: 

For an identification or a description of an advantage/ disadvantage with or without 

application [1]. 

For explanation of an advantage/ disadvantage with no application [1]. 

For explanation of an advantage/ disadvantage and application [2]. 

 

 

(b) Explain how internal and external growth have helped SVT to grow.   [6]  

 

Internal growth is the expansion of a business by means of opening new branches, shops or factories 

(also known as organic growth). In the case of SVT internal growth has been achieved by opening 

new factories or operations such as the desalination plants around the world. Internal growth has also 

supported the growth of the consumer products division. 

 

External growth is the business expansion achieved by means of merging with or taking over another 

business, from either the same or a different industry. In the case of SVT, this is the main growth 

strategy SVT follows in order to enter new markets, new sectors or develop new products. As an 

example SVT acquired Geng PLC a major water supplier in the UK for expanding its fresh water 

provision, it has taken over H4 expanding its engineering division as well as it has taken over small 

filter manufacturers in order to increase market share in the water home filter industry. 

 

Both types of growth have enabled SVT to expand effectively, to achieve economies of scale, to 

increase market share and its revenue streams. 

 

Accept any other relevant point 

Accept any other relevant application to SVT. 

Marks should be allocated according to the markbands on page 2. 

Award a maximum of [3] for a theoretical answer. 

Award a maximum of [5] if the explanation of internal and external growth is mainly descriptive but in 

context. 

For full marks, the explanation needs to be developed and in context. 
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SECTION B 

 

4. (a) Outline two characteristics of cost-plus pricing (mark up).     [2] 

 

• Price is set by calculating the total costs (variable/direct + fixed/indirect) of a product and 

adding a profit margin. 

• Ignores what competitors are doing with their pricing 

• It ensures that profit is made from each unit sold 

 

Candidates are not expected to word their definitions exactly as above.  

Award [1] for each characteristic identified  

 

 

(b) With reference to SVT, explain one advantage and one disadvantage of using total quality 

management (TQM).          [4] 

 

total quality management (TQM): an approach to quality that aims to involve all employees in the 

quality improvement process 

 
Advantages: 

• Competitive advantages for SVT as customers' needs at the centre  

• Cost-effective as it aims at eliminating defects 

• Increased brand reputation for SVT focusing on high quality and consistency 

• Quality issues that could be addressed – SVT faces issues with components 

• batches are being rejected. 

• It could increase efficiency. 

• It could motivate SVT’s employees as it requires the involvement of all employees. 
 
Disadvantages: 

• Requires change in attitude and commitment as it involves all SVT’s employees 

• Training costs  

• Not all workers in SVT are to be motivated by job enrichment or empowerment 

• Accreditation fees may need to be paid by SVT in order to certify their TQM system 
 
Beware of answers that are only about general quality issues which should not be 
rewarded unless linked to TQM. 
 
Accept any other relevant advantage/disadvantage. 
Context comes from issues identified in the case and the nature of the business. 
Award [1] for each advantage/disadvantage of TQM up to a total of [2]. 
Award [1] for putting each advantage/disadvantage into context up to a total of [2]. 
 

 

 

 



M23/BUSMT/HP1/ENG/MOCK 

 

The material may not be reproduced or distributed, in whole or in part to anyone or any organization that has 

not purchased and subscribed in the Paper 1 ibGenius course, without the prior written permission of 

ibGenius.  

12 

 

(c) Explain the usefulness to SVT of the variance analysis in Table 1.   [4] 

 

• The variances suggest seeking answers to questions, helping future budgeting and identifying 
problems. 

• The calculations show lower than expected sales. This helps SVT and the consumer products 
division to plan production quantities based on demand. 

• Higher than expected expenses. This helps SVT identify which fixed/indirect costs turned out 
to be higher than expected and identify possible ways of reducing them 

• The overall profit figure has changed to a loss so considerable need for concern. 
 
Candidates are likely to explain the general meaning of variances and then illustrate their use by 
reference to the data in Table 1. However, do not reward a simple interpretation of the table without 
reference to use as this doesn’t answer the question. 
 
A description only/definition only does not gain marks however a very clear description of variance 
analysis together with a very good example of use from Table 1 could achieve [4]. Otherwise: 
Award [1] for each usefulness identified and [1] for its relevance to SVT, usually with reference to 
numbers. 
 

 

(d) Using information from the case study and additional information from page 3, evaluate the two 

options SVT’s Board of directors is considering.       [10] 

 

Option 1 

Advantages 

• Lean production methods will reduce waste for SVT and therefore costs 

• Their capacity will increase by 10% so SVT can respond to the increased demand of water 

filters 

• TQM will eliminate the quality issues due to faulty components by suppliers. 

• The ecological sustainable machines could improve SVT’s brand image and ethical stance 

 

 

Disadvantages 

• If there is a decrease in future demand for water filters SVT will be operating at lower capacity 

• High capital expenditure 

• Opportunity cost of the 300,000$ that could possibly be invested in other divisions’ growth 

• If demand for WF 15 increases, the new lean production methods cannot cover excess 

demand 

 

Option 2 

Advantages 

• No capital expenditure required 
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• CF produces high-quality filters which could ensure the quality of the products and solve the 

issues SVT has with faulty components by suppliers 

• CF is well established and specialised in the production of filters 

• SVT can adjust their orders up to 5% depending on demand for filters 

 

Disadvantages 

• SVT cannot control the production of the outsourced filters 

• If there is any issue with CF’s products, SVT’s brand image will be damaged 

• If CF delays orders, SVT’s customers may be dissatisfied 

• If demand changes more or less than 5%, SVT will not be able to adjust the order and will 

have excess stock 

• Communication issues with CF 

 

 

Accept any other relevant argument for each option. 
Accept any other substantiated judgment. 
It is expected that candidates provide a conclusion with a substantiated judgment. 
Marks should be allocated according to the markbands on page 3. 
For one relevant issue that is one-sided, award up to [3]. For more than one relevant issue that is 
one-sided, award up to a maximum of [4]. 
If a candidate evaluates / addresses only one option, award a maximum of [5]. 
A balanced response is one that provides at least one argument for and one argument against each 
option. 
Candidates may contrast one option with another for a balance as long as at least two arguments are 
given for each option. 
Award a maximum of [6] if the answer is of a standard that shows balanced analysis and 
understanding throughout the response with reference to the stimulus material but there is no 
judgment/conclusion. 
Candidates cannot reach the [7–8] markband if they give judgment/conclusions that are not based on 
analysis/explanation already given in their answer 
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5. Using the case study and the additional information above, recommend either Option 1 or Option 2 

for SVT. You will find it useful to calculate the payback period for the two options.   [20] 

 

Payback period Option 1: 4 years and 100,000/350,000X12=3.4 months: 4 years and 4.3 months 

Payback period Option 2: 5 years and 250,000/650,000X12=4.6 months: 5 years and 4.6 months 

 

Discussion could include: 

Option 1:  

• Introduction of new more automated and digitalised machinery that will increase the 

capacity of water treatment  

• It will support the water division that has a reginal monopoly 

• The new machinery will ensure the quality of the potable water lowring the risks of fault and 

brand image damage 

• SVT will not need to increase price due to the high maintentace costs and therefore avoid 

negative publicity 

• Employees may be more motivated after the training to a more automated and digitalised 

machinery 

• Lower capital expenditure (1,5 mil$) in comparison to Option 2 (3,5 mil.$) 

• Lower annual costs for maintenance than option 2 

• Faster Payback period than Option 2 

 

But 

• Addiitonal costs will occur due to the training needed for the new machinery 

• ARR 3.33% lower than option 2 (8.6%) 

• Possible conflict with engineering division as the machinery will be bought by an external 

supplier 

• Opportinity cost of the investment for other divisions with higher growth market 

 

Option 2:  

• Increase of production capacity of wind turbines so SVT will be able to accept more orders. 

• Potential of increased sales and market share in  market that is growing 

• Economies of scale 

• Hiring new employees may bring new ideas and motivation in the division 

 

But 

• Higher capital expenditure (3,5 mil$) in comparison to Option 1 (1,5 mil.$) 

• Higher annual costs for maintenance than option 1 

• Slower payback period than Option 1 but th long-term objectives of SVT should be 

considered 

• Opportinity cost of the investment for other divisions with higher growth market 
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Only some of these issues need to be discussed for a full response 
Accept any other relevant discussion. 
Marks should be allocated according to the assessment criteria on pages 7–8. 
Criterion A: Knowledge areas include: risk, investment appraisal, strategic decision making. No 
understanding of investment appraisal, marks limited to [3]. 
Criterion B: Application will be judged by the use of the stimulus material, in particular the extra 
material. If only one option considered, award a maximum of [2]. If both options considered but no 
use of additional material, award a maximum of [3]. If no payback based on the original data or 
payback not used limit to [3]. 
Criterion C: Reasoned argument. For full marks there needs to be a comparison between the two 
options and a supported recommendation. If analysis of only one, award a maximum of [3]. If no 
comparison but analysis of both options award a maximum of [2]. For simplistic analysis max [1]. 
Criterion D: Structure – see criterion. 
Criterion E: Likely issues include: Groups: impact on employees, directors, shareholders, 
competitors, local communities. Individuals: Jannick and Ariadne. 
0 = no relevant mention of any groups, individuals 
1 = only group(s), or only individual(s) or both treated superficially 
2 = group(s) and individuals(s) considered but either groups or individuals superficial 
3 = groups and individuals considered more than superficially but not balanced 
4 = groups and individuals given balanced consideration 
Note: a recommendation that a decision cannot be made due to lack of information or additional data  
can be regarded as a decision provided the arguments are supported. 
Do not penalise candidates who make little or no reference to the original pre-release 
material. 

 

 


